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16. The elevated road will be closed for next week.

(A) maintenance (B) clearing (C) preparation (D) management
17. Your cell phone is too old. The parts are not anymore.

(A) gotten (B) selling (C) available (D) market
18. Dr. King especially out the purpose of the research project.

(A) carried (B) pointed (C) claimed (D) showed
19. The Engineering Department just purchased a lot of new .

(A) equipment (B) tool (C) facility (D) installation
20. Every is nice at work, so Jane really likes her new job.

(A) college (B) colleague (C) collage (D) collocate
21. The city government plans to more U-bike stations.

(A) get (B) open (C) setup (D) keep
22. The moon around Earth once a month.

(A) evolves (B) drives (C) involves (D)travels
23. Compared to the Toyota, this Mazda is a much better .

(A)bargain (B) chosen (C) finding (D) liking
24. 1’s OK to you have made a mistake. No one’s perfect.

(A) think (B) admit (C) joke (D) laugh
25. Your hair is too long; you should go to the soon.

(A) barber shop (B) bob’s shop (C) cut store (D) hair store
26. Terry got a for driving above the speed limit.

(A) warn (B) ticket (C) job (D) prize
27. The water pipe is . We need to get a plumber to fix it.

(A) turned off (B) running (C) braking (D) leaking
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28. Frank just bought a new near his office. He can just walk to work.

(A) department (B) compartment (C) apartment (D) embankment
29. TV watching is the main for a lot of people these days.

(A) recreation (B) thing (C) entertain (D) interesting
30. There is no need to . We have plenty of time.

(A) go (B) hurry (C) wait (D) come
31. This is the computer game I have ever played.

(A) good (B) better (C) best (D) fine
32. There are too many in this election. It will be a difficult race.

(A) votes (B) hopes (C) chooses (D) candidates
33. I have marked the birthday of every one of friends on the .

(A) calender (B) colander (C) calendar (D) cylinder
34. is the most important because we want to get things done in time.

(A) Fact (B) Effective (C) Efficient (D) Efficiency
35. Could you the salt, please? The soup is a little too bland for me.

(A) pour (B) buy (C) pass (D) hold
36. The copying machine is the end of the hallway.

(A) at (B) on (O)in (D) across
37. Harry dislikes ; he prefers listening to music.

(A) to watch TV (B) TVs (C) watching TV (D) watch TV
38. Matt and Mary for over 35 years.

(A) are married (B) have married (C) married (D) have been married
39. This company more than fifty years ago.

(A) had been established (B) was established

(C) established (D) was establishing
40. Nick has a hot temper, so nobody likes to be him.

(A) close (B) round (C) at (D) near
41. Doug and Billy have known each other junior high school.

(A) since (B) in (C) when (D) for
42. One of my coworkers in the building across from mine.

(A) live (B) lives (C) are living (D) is lived
43. Michael he didn’t have to find a job like everyone else.

(A) hopes (B) wishes (C) is hoping (D) is wishing
44. 1 don’t mind doing overtime work I get paid for it.

(A) as long as (B) until (C) before (D) beside
45.1 a shower when you called, so I couldn’t answer the phone.

(A) took (B) have taken (C) was taking (D) had taken
46. The Vietnamese restaurant is only a walk from here.

(A) five minute (B) five-minute (C) five minutes (D) five-minutes
47. After a vacation in Okinawa, we’re ready to go back to work.

(A) relax (B) relaxing (C) relaxed (D) relaxation
48. T wish I go to work every morning [ wake up.

(A) don’t have to (B) won’t have to (C) not have to (D) didn’t have to
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49. All new employees to attend several training programs.

(A) need (B) are needed (C) are needing (D) have need
50. A large number of students for the class, so we need a bigger room.

(A) sign up (B) signs up (C) have signed up (D) has signed up
51. There is a 7-11 the corner from my home.

(A) at (B) on (C)in (D) around
52. We must right away; otherwise, we will miss the flight.

(A) to go (B) go (C) be gone (D) to be going
53. She could not help because the movie was so touching.

(A) cry (B) to cry (C) crying (D) cried
54. Peter has gotten three promotions because he works .

(A) hardly (B) hard (C) harden (D) hardening
55. If you want to catch the train, you now. It leaves in half hour.

(A) would better go  (B) would rather go ~ (C) had better go (D) had better gone
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